
Factorisation d'Exposants (B)
Décomposez chaque exposants en facteurs.

56 =

51 =

93 =

193 =

232 =

204 =

254 =

184 =

146 =

123 =
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Factorisation d'Exposants (B) Solutions
Décomposez chaque exposants en facteurs.

56 = 5 × 5 × 5 × 5 × 5 × 5

51 = 5
5

93 = 9 × 9 × 9
729

193 = 19 × 19 × 19

232 = 23 × 23
529

204 = 20 × 20 × 20 × 20

254 = 25 × 25 × 25 × 25

184 = 18 × 18 × 18 × 18

146 = 14 × 14 × 14 × 14 × 14 × 14

123 = 12 × 12 × 12
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15 625

6 859

160 000

390 625

104 976

7 529 536

1 728


